Worksheet for Annual Risk Costs
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District:� FORMTEXT ��–––––��Highway:� FORMTEXT ��–––––��Date:� FORMTEXT ��–––––���CSJ:� FORMTEXT ��–––––��County:� FORMTEXT ��–––––��ADT:� FORMTEXT ��–––––���Stream/Location:� FORMTEXT ��–––––�����Description of alternative:� FORMTEXT ��–––––�

����Summary of Economic Risk
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Flow

(m3/s)�Frequency

(years)�Exceedance Probability�Total Losses ($)(�Average Losses ($)(�Delta

Probability(�Annual( Risk ($)��� FORMTEXT ��–––––��2�0.50�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��������0.30���� FORMTEXT ��–––––��5�0.20�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��������0.10���� FORMTEXT ��–––––��10�0.10�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��������0.06���� FORMTEXT ��–––––��25�0.04�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��������0.02���� FORMTEXT ��–––––��50�0.02�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��������0.01���� FORMTEXT ��–––––��100�0.01�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––���Annual Economic Risk������� FORMTEXT ��–––––���See Summary of Economic Losses worksheet

The average loss is the difference of the total losses of the row before and after, divided by 2.  For example the average loss of the 5- to 10-year row is the average loss of the 10 year minus the 5 year, divided by 2.

The delta probability is the difference between the two probabilities.  For example, for the row between the 10 year and 25 year, the difference is 0.10–0.04 = 0.06.

The annual risk is the delta probability multiplied by the average loss.

�Summary of Economic Losses

��Losses in Dollars ($)�������Frequency (yrs)�Flow (m3/s)�Embankment and Pavement�Traffic Related�Backwater Related�Super-structure�Scour Related�Total Losses��2�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���5�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���10�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���25�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���50�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���100�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���

Frequency (yrs)�Description of Damage of Embankment and Pavement for Corresponding Frequency�Costs��2�� FORMTEXT ��–––––��� FORMTEXT ��–––––���5�� FORMTEXT ��–––––��� FORMTEXT ��–––––���10�� FORMTEXT ��–––––��� FORMTEXT ��–––––���25�� FORMTEXT ��–––––��� FORMTEXT ��–––––���50�� FORMTEXT ��–––––��� FORMTEXT ��–––––���100�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���

Detour Length�ADT�Traffic-related Losses and 

Description of Alternative Being Studied�Costs(��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––����See attached graph or use equation: Traffic risk (dollars) = 0.454 × Detour length (km) × ADT

Frequency (yrs)�Description of Damage Related to Backwater for Corresponding Frequency (include description of damage to buildings & crops along with description of backwater situation)�Costs��2�� FORMTEXT ��–––––��� FORMTEXT ��–––––���5�� FORMTEXT ��–––––��� FORMTEXT ��–––––���10�� FORMTEXT ��–––––��� FORMTEXT ��–––––���25�� FORMTEXT ��–––––��� FORMTEXT ��–––––���50�� FORMTEXT ��–––––��� FORMTEXT ��–––––���100�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���

Frequency (yrs)�Description of Damage Related to Superstructure for Corresponding Frequency (include description of damage to bridge, drift problems, etc.)�Cubic Meters of Damage�Costs(��2�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���5�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���10�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���25�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���50�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���100�� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���This is based on previous damage prices that average to be $� FORMTEXT ��–––––� per cubic meter of repair.

Frequency (yrs)�Description of Damage Related to Scour for Corresponding Frequency (include description of damage to bridge, scour depths and scour widths, etc.)�Costs(��2�� FORMTEXT ��–––––��� FORMTEXT ��–––––���5�� FORMTEXT ��–––––��� FORMTEXT ��–––––���10�� FORMTEXT ��–––––��� FORMTEXT ��–––––���25�� FORMTEXT ��–––––��� FORMTEXT ��–––––���50�� FORMTEXT ��–––––��� FORMTEXT ��–––––���100�� FORMTEXT ��–––––��� FORMTEXT ��–––––���� FORMTEXT ��–––––��� FORMTEXT ��–––––��� FORMTEXT ��–––––���This is based on previous damage prices that average to be $� FORMTEXT ��–––––� per cubic meter of repair.





